Solution to Exam 1, Feb.6 2001
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a) Stability: (need all the coefficients to be of the same sign) kc>é_'i=4.5

b) Offset:T2set-T2ss 0=(100- T 15) + 10T pgg
T 16=100+ 10-T g

0= <T 1s5- T 255) + 2-[0.5+ kC-<3O— T 255)]

_(101.+60.k ¢
Tass" Fov 2k

(101.+ 60.k ¢

ook Off -7
(-9.+2_.kc> set(30) =-7.275

Offset k ¢} :=30~



3. Given: §=—3-P+ 2-u

2

2k 2.k
a- P+ <2-kc+3>-f+ _¢ P= c P
dt2 dt T T
T 2 2k~.+3
L e P ep
2:Ke \dt2 2Kk dt

Comparing with the standard form of 2nd order process,
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with kc=1, for overdamped process we need :
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With fixed At=0.1, the recursion equations under Euler's method is given by,
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